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™ Yoo .
V “la) gagas o
P 3012 [ sbas a9

OV gaad) 2B pladl) gili UKl B e jall | dsdiall 4
1 Oy 5 g IV a5 i Cam e JI AV 5 5208Y) lee (o Sia 1 Sl + sl i | 169 & 168

O sl s 25
:2022 — 3 - gladal 1 ] s
Which of the following describes oxidation correctly? (s IS8 sy s _;L (P9 i_'gi
A reactant loses electrons and its oxidation 028k 2 Ay Blig i< Jeliall 8 = Q

number increases

A reactant loses electrons and its oxidation 2283 2o Jug Blig pi<l) Jelinall 2 -b

number decreases

A reactant gains electrons and its oxidation a8l dae Ay @lig i< Jelidl iy = €

number increases

A reactant gains electrons and its oxidation 2280 dae Jag ilig i<l Jeliiall sy = d

number decreases

£ 2022 — 3 - bals) — cladal ; 2 Jlsm

Which of the following describes oxidation correctly? Crmna JS4 J) iAoy _;L (P9 -L'gi
A reactant loses electrons and its oxidation s28l5 22 Aoy iy <) Jelinad) 22 - @

number increases

A reactant loses electrons and its oxidation 2283 2ac Jaug Sl i) Jelinall s -b

number decreases

A reactant gains electrons and its oxidation oSl 2ae A2y Glig i< Je liiall sy =

number increases

A reactant gains electrons and its oxidation sl 2ac Jang ilig i< Jeliiall uiS= d

number decreases

sleal) asiiug
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A number assigned to an atom or ion to indicate

(O Atomic number

QO Coefficient

O oOxidation number

QO Equivalent number

its degree of oxidation or reduction is called............

C a0 sl s gl 5,0 a8
........................ ey J) A i 3ausY)

< _,Z\ll i

Jalaall

sl dae

ALl aae

P Jolas
P Jotas

i) Cppabeall oo i) Jali -4

Pb—> Pb 42 -1

2¢ + Pb+—» P -1

: Pb uabaly (3l Lad
ool b ausly,
cplela) La J5aad *

Oe i) A i axe ek

IT & Jyiddy T 0 sty *

¢ Baus) yiad L) <l piill (e 5 =5

2F

— [, + 2e

1
2[10,- +2¢ — 10;"
3| Na — Na'+e

3 51°* dasd 1 *

g 2 0* 3 52 %

WJAS\J\JAU‘JJJ-\SS\JDJAMM-6

JIsa [Bansl]
u.a.u.u LARPRVIY i
]

sl Al Al clnpgiglc F,+Mg —» 2F +Mg™ :Jeud b8

2+

Mg F, ,Mg

¢ JI s U&Mwh&ys“ 2Na + Cl,
Na' Cl, ,Mg

KHdLID ESMAIEL

Mg F

2

—>

2Na™ +2CI :Jeldll 89

Na Cl2
sleal) é\.ﬂ.\




||||<<< 3cd lata¥) JS s daa) e 2024 -3 — sbas — a2

codc 2Mg +0, —» 2Mg " +207 : el b -10

JFa1 0, s st Mg MSEOZJJ}B\Mg
e { = i % . 2- R 2
JI A gl Baws) Citay al JFA O 5wt Mg
2022 - 3ci - glaial .11
Which of the following is NOT true about X in olial JSAI) A X Jga e 1 b Laa

the figure shown below?

e

0 1
Jao
©: .0

Transfer of

electrons
O The oxidation number of X increases 2330 X sl 22
O Xloses electron O Al XAl X
(O Xisthe oxidizing agent and becomes reduced JFA0 5 auSia Jale X
O Xis the reducing agent and becomes oxidized Leslly g J3ida Jale X
2022 - 3 — glalal =12
What substance is oxidized in AN Aalaal) B ciausls ) alal) La

the following equation?

2Br~ + Cl, > Bry, + 2Cl°

Br

Cl;

Bl‘z

O 0| 0|0

cr

sleal) él.w
Khalid Esmaiel
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) 3eall 28 aladl) il Sas B aasal) [ dadal) b
2 JIrial-sans] Jelill J)paY) Jeli Caai g 3au&Y) Jelii Caai (i + 1+l s | 173 & 169
ik

2022 - 3 - glaia) -]

What is the oxidation half reaction of
the net ionic equation shown below?

Cl, +2e” — 2Cl-

SCT 5 €y 1+ 26

ZNa(s) + ClZ(g) => 2Na+

Aalaal) B 5ausY) Jolds Ciual La
oLia) dauia gal) 48 puall 43 oY)

+ 2Cl”

Na - Na* + e~

O |O0]|O O

Na' +e — Na

2022 - 3 - Gladal -2

Which of the following is NOT an example fJeli ciual o Ylia Gl b Laa i
of a half reaction?
@) 2Fe+3Clz — 2FeCls
@) Clz +2e- - 2CI
@) Fe — Fe3* +3e-
@) 2H* + 2e- - H2
-3

What is the following is an example of halfreaction ?

¢ el auai e Yl L La

A.Fe?+MnO, - Fe3* + Mn?*

B.NH; +NO, > N, + H,0

C.Cl,+2e > 2Ck

D. NH; + H,0 = NH,* + OH-

Khalid Esmaiel
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What is the following is NOT an example of halfreaction? $delii cauai e Ylia ud L s 4

A.Fe > Fe¥ + 3e

B.NH, +NO, > N, + H,0

C.Cl,+2e = 2CI

D. 2H*+2e > H,

¢ Al Joliill colalaal) b guan 32usY) Jolii Ciual (p o Laa ) 5
Fe + O2 —> Fe20s3

Fe* —> Fe’* + 1e Fe —> Fe?* + 2¢
0, —> 20% + 2¢ Oz + 460 —> 207

¢ Al Jelinll cdlalaal) b guiaa JIJAY) Jeldl ciual Cpu A laa 51 —6
Fe + F2 — H:+

Fe?* —> Fed + e Fe —> Fe’* + 3e
Fo —> 2FF + 2e° Fo+ 26 — 2F

¢ At Jelitll cdlalaal) b guiaa JFAY) Jelil Ciual Cpy b laa 1 =7
Fe + HBr — H2+ FeBrs

2Br + 2e- —> B Fe —> Fe?* + 2e
H —> 2H" + 2e° 2H* + 2e—> H>

oaladl) Sl S Jglaa g pand) G 15580 5 Baws] Jo il dati Jiay jglaall Jsil) -8
2Fe + 3CuSOs —> Fe2(S04)3 + 3Cu  : 4dlil) Ustaall las
D o L

¢ c lalaal) b guiaa BansY) Jeldila— A

2Fet —> 2Fe® + 4e
3Cu —> 3Cu?* + 6e
2Fe —> 2Fe% + 6e]
3Cu**+6e —> Cu

¢ colalaal) b gucan J)FAY) JeliiLa— B

2Fet —> 2Fe®* +4e

3Cu —> 3Cu®** + 6e

2Fe  —> 2Fedt + e
| 3Cu?*+6e° —> 3Cu |

sleal) él.w
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2024 -3 — shas — a2

J) uad) P§J plail) mil sty gé el dadall eﬁ)
3 JI a2V Jelii 8 J il dalall 5 20 gl Jalall 33ay 10+ o 173 &171
il + 1 Jba +

2023 - 3 glaia) ; 1 Jlism

¢ e Jl dduay AL Lea o ¢ i) Jalad) g8 Fe Jeliiall o) cuale 13) sliaf Jeldat) b

Fe(s) + 2Ag*(aq) — Fe?*(aq) + 2Ag(s)

Bl 4l i — aekh a0 g — iy ) e

Gains electrons — its oxidation number increases — it is oxidized

5ausl Al tanan — sl e 2 — iy pSl) s

loses electrons - its oxidation number increases — it is oxidized

Jimal al diay — sawsh s Ji— iy 58 s

Gains electrons — its oxidation number decreases — it is reduced

Jipal al Gaas — 208 2 i — iy 5| S

loses electrons — its oxidation number decreases — it is reduced

2023 - 3 - sile | — gladal ; 2 Jlsm

¢ raa JSdy Addiay Al Laa ] ¢ aaS3all Jaladl sa Agt Jeliiall o) cuale 1) olia) Jeldal) b

Khalid Esmaiel

Fe(s) + 2Ag*(aq) — Fe?*(aq) + 2Ag(s)

5ol 4l Banan — oaekl s g — g ) asSs .
Gains electrons — its oxidation number increases — it is oxidized
;:_.sid;mz—a.;..si:mﬁ)g-;uj;ﬂlﬁég 2
loses electrons - its oxidation number increases — it is oxidized
Dl al ana — saush sae i — il 580 GausSs -
Gains electrons - its oxidation number decreases - it is reduced
Jipd) al Guay — paush ae (B — il ) S0
loses electrons — its oxidation number decreases — it is reduced 4

2022 - 24 gl -3

What is the reducing agent in the following reaction?

S

H,S

HCI

o

HZS(Q) -+ C|2(9>

2T Jolial & )il Jalall e

S + 2HClg,

sleal) é\.ﬂ.\
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4

What is the oxidizing agent in the following reaction ? ¢ Ul Jelall 8 susS3all Jalaall L

st(g) - o CIZ‘Q) - > S (s) 25 2HCI(G}

A. H,S

B. Cl,

G

D. HC

What is the reducing agent in the following reaction ? ¢ Aull Jelall djadall Jabadll L

Fe(s) + 2Ag*(aq) — Fe?*(aq) + 2Ag(s)

A. Fe

B. Ag*

C. Fe**

D. Ag

Khalid Esmaiel

s A Jelnl) 8 S ipall Jalad) La -6

Fe + 2Agt — Fe** + 2Ag

* Fe

*Ag* % e+ * Ag

¢ A Jelisl) b J5iaall Jalal) La —7

2K + C12 —> 2K* + 2CI-
K* * KC1 *
K * C12 %

¢ AU Jeldil) 8 auSal) Jalad) La -8
2K +Cl, — 2K*+2CI

K* * KCl *
K * Cl2 *
sleal) asiiug
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e ¢ JJ\@J\MQM@M\J&SJM\L&—9
| Ju l Jride dale Y 5 2S5 dale X *
© .00 o e Y 5 e e X

Ji Y 28l aae 5 ala 3 X ausl sae *
OsANY usi*

: ddal g s Jidal) Jalad) Gl (e (A Le aaa =10

il g As) ueisy * Bams) Al Guaay Sl dae oy * <l g yiS)) J8d, *
: ddalg e ausisal) Jalad) Clda (e o be praa <11
il g ASl) udiy * JIFR) A Gaay ¥ sl axe Ji, * <l g i<ty a8dy *

2023 - 24 laial 212

In the general equation below, if you know that Jide els o X Jolimdl o cude 13 oolial Aol aleal 3
the reaclant X is a reducing agent. S JSL aba ‘53(_: Las 6
: : Fr .,
Which of the following describe it correctly? X4+Y XY
sl 4l Canas — saush s — il i) e 1
Gains electrons - its oxidation number increases — it is the oxidized
sl al unan — skl e a5 — g KN NG
) 2
loses electrons — its oxidation number increases — it is the oxidized
Ja) a) Gaag — 028G dae i — iy 580 S 3
Gains electrons — its oxidation number decreases - it is the reduced
Jral 4 Suag — 52u8h 220 (B — iy 50 Sk
loses electrons — its oxidation number decreases — it is the reduced 4

sleal) éh.u
Khalid Esmaiel




3 oaiay) S8 s daa) ja

2024 -3 — sluaS — ale12

J)gead) a3

alal) il
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4

o) gl e de ganal g LS jall 5 il gl 5 pealiall 2uSU aae 23y

il + 2 Jha 175 & 174

Khalid Esmaiel

S +(3x-2)=0
S+ (-6) =0
S=+6

SOs3 M\é&gﬂ\ sl e ) -

-2 (a
+2 (b
+4 (c

+6 (d

S +(3x-2)=0
S+ (-6) =0
S=+6

CO» M‘@dﬁ)ﬁ\ sl aas ) =2

-2 (a
+2 (b

+4 (c

N +(3x-2)=-1
N+ (-6)=-1

N=-1+6
N=+5

+6 (d

NO;3™ dapal) B (pa g il faus) die cal -3

0 (a
-1 (b
+3 (c

+5 (d

2Cr +(7x-2)=-2
2Cr + (-14) =-2
2Cr=-2+14

2Cr = +12
Cr=+46

Cr207% Aapall gé X Baus| A ) -4

-2 (a
+2 (b
+4 (c

+6 (d

NH3 M\éNQﬁJJﬂ#\ Mﬁé&gm\-s

N +(3x+1)=0

N+ (+3) =0
N=-3

0 (a

-3 (b

+3 (c
+5 (d

NH4* Aapal) & N (g il sl e ) -6

N +(4x+1)=+1
N+ (+4) =+1

N=+1-4
N=-3

0 (a

-3 (b

+3 (c
+5 (d

sleal) asiiug
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What is the oxidation number of Chromium (Cr) O dia B (Cr) agosll aie sl 2o L
element in the following ion formula? ALl
CrOﬁ_ Cr +(4x-2)=-2
Cr+ (-8) =-
Cr=-2+8
O ° Cr=+6
O +2
O -6
O -2
2023 -3 il — 8
What is the oxidation number of the underlined el Aa Ll ‘;_w b dGas (A i) 20806 22e Lo
element in the following formula?
4B +(7x-2)= -2 8,0~
4B + (-14) = -
4B = -2+14 -3 (a
4B = +12 +3 (b
B=4+3 -4 (c
+4 (d
2023 -3 glalal — 9
In which of the following does the oxidation number of =2 Lglua oyl 2kl sse 058 b Les ¢l J
sulfur equals -27?
-2 o .
SO"I = 803 = 2 804'-
s
// / / —_
s+(2x2)=0 | S #(3x-2)=0|(2+1)+5=0| S HAx-2)= SOs (b
s+ (4)=0S+ (-6) =0 | #A)+5=0| S+ (8) =-2 (IS (c)
S=+4 S=46 S=-2 S=-2+8 SO ( d
S=+6
slel) astlu

Khalid Esmaiel
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What is the correct ascending order of the following 2B 2aad G 2 dpall masall gaelatll uigll L
formulas according to the oxidation number of Pl K s:‘c‘ g gl
hydrogen in each of them?
H, = HCI - LiH
The smallest is H, —LiH —»HCI (the greatest) (JJSW) HCl«— LiH«—H, » ();_..J;H) -a
The smallest is H,—»HCI —» LiH (the greatest) (JJSW) LiH «—HCI «—H; » (xa¥) - b
The smallest is LIH—»HCI —H,  (the greatest) (J.\S‘ﬂ\) Hy«—HCl«— LiH 5 (2aY) - ¢
The smallest is LiH —H,—»HCI  (the greatest) (JJS'EI'I) HCl «—H, «—LiH o (22Y) - (1
J!M\‘{é) eh:m@u ‘,.usssgé&,d\ M.A\‘JJ
5 auslill sae & 3l Cus e 1 FAY) 5 5008 G S 3 s + I yai 176
2023 -3< gadal — 1
Regarding the reaction below. Which of the following fna b Laa gl Lolal Jelally slayy Lo
is correct?
2KBr(aq) + Clx(aq) — 2KCl(aq) + Bra(aq)
The oxidation number of bromine changed from -1 to 0 0 =1 epgnd 2fbae yui - g
The oxidation number of bromine changed from 0 to -1 -1 g_«—‘! 0 e})—!ﬂ sl 22 PRI b
The oxidation number of chlorine changed from +1 to 0 0 ST 1 e i<l 286 e s = C
The oxidation number of chlorine changed from -2 to 0 0 o= 2 (il Sk e I d

LI AR a) B Al ) il cuils 1Y) daa

J) 4 af Baus] Uslaal)
JIka) L + 2¢ — 2I
B aus| K — K* +e-
B Fe** — ,Fe* +¢
JI A Agt + e — » Ag

sleal) asiiug
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was oxidized

reduced

Which of the following is correct in relation to the reaction

The potassium atom K lost an electron and

The potassium atom K gained an electron and it is

O Fluorine F, lost electrons and was oxidized

oxid $alial Jolalls (3hay Ladk mana 3 Lea
below? -)l.% + 'g ZEFI
£ 1m) 29y ————» (s)
— red |
O Fluorine F, gained electrons and was oxidized sausl Al Garay ilig 51 Fy ldl) cancs)

.Sl el -.LI."A) 'L‘:,_;;Si! K ?3:1..113}_11‘ SJ..J CaaRd

J'l)-a;.:»] Lg.l L‘J.“.‘:Lj L“I}):Sjl K e}_.\q..a‘_'l}gll EJ‘J v;\-_l.-.-.-oS!

sl al Gana g cilsg 5 Fy pglil) R

2KB1(sq) + Cly(aq) = 2KCl(oqy + Bry

Sadu dlstaall § pg Al J--SI-MJ.N-J' la -4

2{aq)

-1, 0o a
ity el b
+1 0
O pa C

Odl-1as 4

In the reaction represented by the equation below.

Which of the following is correct?

The fluoride ions receive electrons from the iodine

and it is reduced

o The iodine receives electrons from the fluoride

ions and it is oxidized

oThe iodine receives electrons from the fluoride

jons and it is reduced

The fluoride ions receive electrons from the iodine

and it is oxidized

IRl Ll aasg agll e lip Y glall cligd Jama

5okl & Gazany apldl) Slipd e g S sad) it

ool Alslaal abd G el b 2 Slada) -5

2F_(aq) + Ig(aq) —_ F2 (aq) + ZI_(aq) 2023 -

Al 4l taing sl s e il QY 35l Y

sl Ll aansg agd) e il ) ) glill il s

sleal) é\.ﬂ.\
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I ) eé) aladl) il sty gé el dadall ?EJ
6 S ETI S RIS 2 Jaa + QSN i 174

PG ke i eaiad auslil) aae -]

s g g BN saa) oY sl a2
s

*

*

(1+)
(1) "
K
g S pall A gSal) AN aslil) dae ] £ gana -3
o
(1+) "
(1-)*
(2-) "
g il A Aamia ¢ oS A gal) ) AN ALslEl) das) £ gana -4

*

a
(1+) *
(1-) *
Qﬁ;‘z’\%ﬁ*

S ya sl A ol sl axela -5

(1+) ~

*

(1-)
(2-)°

sleal) asiiug
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Al G gl (e J31 ) o 3B puaaing 4 lat S pa 6 (B O gl sl 230 la -7
¢ (Algs

*

Ja
(1+) *

*

(1-)

(2-) "

O (aSY) 350 ) S gl S e A sl usl acla -8
Joa ¥
(1+) *

*

(1-)
(2-)°

) gud) aB alail) il Qlsl) B aa el | dadal) a3
7 Oa S el 05y Al <l 10U 5l 3l 5 08 paalic (panali CLS jo 35 s i oy | 5 IS8+ Gl e | & 188, 174
sl dae 77 539 i, Ak 4 189
Bas gl vy A e
2022 - 3 - ¢laial -1
What probably accounts for different forms of Ao gall (alail) il ja o gl SR B candd) La
ealiai

copper shown below?

O Oxidation number difference 2aslal) a3 CaBEA)

O Atomic number difference @A aml) CidER)

O Mass number difference S aad) MG

QO Pparticle size difference Glual) aaa G
sleal) asiiug
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-2
What probably accounts for different forms of chromium shown below ?
A. Mass number difference SESH a2l Cadual)
B. Oxidation number difference Sl dae Al
C. Atomic number difference @A 2l Al
D. Particles size difference Cluall aaa DA
-3

What probably accounts for different forms of iron shown below ?

sLial Az gall apaall LS jo () gl o DA Al L

A. Mass number difference ‘_A.\sl\ dall e
B. Oxidation number difference Sl ade Cadaal)

C. Atomic number difference

oW 2l DG

D. Particles size difference

Q\,\:\,\a]\ FEEN [y ¥ty

Khabid Esmaiel
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a9 gl (B el M) Calal) b A 08 ia HT e Al cpa g 0eh 0135 -4

I ) aﬁ) aladl) il sty gé el dadall PEJ
8 Jelall 43, jhay ¢ aes Jsbae 8¢ I FRY) 5 50uSY) COLe L 45 ) ga il shad Caiay 5 Jgaat UK 181
snall
E (raand) gl A 580 2 Y
NSSBS X VOFL{ W 9= } ysioall Al asd -
R B e 3 lasla iyl &g -2
QranmSY) (A el Ay M) ikl (A O 3,8 JS Sl HLO £s 0 A8l . et 059 -3

_________________ bawY). gotint  Oa¥)  Gam A
r i } il g sty ddl) -5

............... Y geuimt ) il
Galia Jalea X G pally Guilileal) (8 Gl g 5SIY) 230 3) glwa -6
g S el Lled) Adaal) | Ao Jpmall Gilalaall paa -7

Khalid Esmaiel

; . _ - - _1
What should be the value of X to balancethe following half reaction ?
A Jo i) Cami Allae &) gl Yad () 5S5 O cang 13
SO, + 2H,0 = SO, + Xe™ + 4H*
A.1l
B.3
C.5
D.?2
-2
What should be the value of X to balancethe following halfreaction ?
Al Je il Caas Alabae 433 sl XAl O 6K O e 13
MnO, + 8H*+ Xe = Mn?* +4H,0
Al
B.3
C.5
D. 2
sleal) asiiug
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J)igead) a8 platl) il Qi) B aa jall | dadiall a3
9 Caaill Jelall 48 jha aladiuly 5 (e Jsbae & I Y1-300SY) Jelds ¢ il + 5 Jlie 183
J)gaal) 2B plail) il UKl B aa jall | dsdiall a
11 Caaill Jelal) 48 Jha aladiuly aes Jslas 3 J) Y1528y Jelis ) 6 Jsaa + U ai 182

-1
When using half-reaction to balance the redox 52 Aalaa & ) ¢ Je il Chuad A3y yha alaail e
equationin acidicsolution. Which of the o b b gl | amaad) Jdad) 3 sLal I 3aY
following is the correct balanced equation? Pan i all &g ) sall dlalaall

Zn + NO; — Zn2* + NO,

A. 3Zn + 2NO," + 2H,0 —> 3Zn?* + 2NO, + 4H*
B. Zn + 2NO,” + 2H,0 — Zn?* + 2NO, + 4H*

C.Zn +2NO, + 4H* —> Zn?*+ 2NO, + 2H,0

D. 3Zn + 2NO,™ + 4H* — 3Zn?* + 2NO, + 2H,0

¢ dajauall 43 ) gall Adaleal) La ¢ (aan Jag B Joliil) Cual 48y yhay 40U Aalaal) o) -2
NOs+L, —— 105 + NO;

4H* + L + 10NO5 —> 2103 + 10NO, + 2H,O
6H* + I, + 10NO5 —> 2103 + 10NO, + 3H,0

8HY + I, + 10NO3 — 2IO3 + 10NO, + 4H,0

12H* + I, + I0NOy ——> 2105 + 10NO; + 6H,0
¢ dajauall 43 ) gall Adaleal) La ¢ (aan Ja g B Joliil) Chual 48y yhay 40U Adalaal) o) -3

Cr207+I —— Cr* + I,
8H* + Cr,O7 + 6 —>  2Cr** + 3L + 4H,0

14H* + CnO/* + 3 ——> Cr’* + 3L, + 7H,O
6H" + Cr,0+ + 6I° ——> 2Cr’* + 3, + 3H,0

14H* + CrO2> + 6I° —>  2C2* + 3L + 7H,O0 |

¢ dasaual) 4 g ) gall Adalaall La ¢ (udaan T g B Jolil) Ciaai 48, jhay 401 Aslaal) o -4
Mn?>* + BiO3 ——> MnOs + Bi**

a- 4H* + 5BiOs + 3Mn** —> 3MnOs + 5Bi** + 2H,0
b- 6H* + 3BiOy + 2Mn** —> 2MnO, + 3Bi** + 7H,0
.c- 6H* + 5BiOs + 3Mn*——>  3MnO, + 5Bi** + 3H,0
d- 8H* + 5BiO; + 3Mn* ——> 3MnOs + 5Bi** + 4H,0

sleal) asiiug
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NO + CIOO —— NOxr + Cr
| a- H,0 + N,O + 2CI0° —> 2NO, + 2CI + 2H* |
b- 2H,0 + N,O + 2ClOO——>  NO, + 2Cl' + 4H*

c- 3H,O + N,O + 2CIOO——>  2NO;y + 2CI" + 6H"
d- H,0O + 2N,O0 + 2CIOO——>  2NO; + 2CI + 2H'

2022-2ch Ghaial -5

Using the half-reaction method to balance the L ey sl cdlelis il delill Chaas dksyk aladzaly

oxidation—reduction reactions, what is the correct ¥, il 1 8 I (o il Aan el g el Asled)
balanced equation for the following reaction in

acidic solution? l

2 F 82032_(aq) — 82042_(aq) + 1 (ag)

S,0.7 + H,0 + | — S0 +2H 4+ I
23 2 2 24
'®) 28,0, +2H,0 + 1, —» 2S,0,% + 4H* + 2I
O 82032_ + Hzo + Iz —PSZO42_ + 2H+ + 2|_
S,0.2 + |, + 2H* — S,0,2 + H,O + 2I
23 2 24 2

2023-2i ¢lalal -6

Using the half-reaction method. ~detill il diyyls Laadnl

Which of the following is the balanced equation for the € men Jglaa ool Jolisl] digj5all Aaladl 2 S Las g

reaction below in an acidic solution?

59032-{“} + CID{[“] e 39042-[“;} + Cl:{g]
O 289032_(3(0 7 50'03_(3(1) £ H20(|) e 259042_(aq) + 5C|2(g) +2H"

O 55603 (aq)+ 2Cl057(aq + Hy0p ———» 5560, (ag) + Clyg) + 2H"

Khalid Esmaiel —
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10 Jelill 43 )y ¢ gacld Jglae e I a5 30uSY) el 45 ) 50 & sl Ciuay ikt 5 Jie 183
siaaill
a:; s el gl B ¢y 5ol 2 Ll
N P L o..\.uS\‘.«.ma.a T
Cduall 41 3
........... JI A Chual } : ‘ 1
% - — ¢ e ta AN G5y -2
WEWRSY gﬁuéﬂ-'“-us-\-“uﬂ‘gﬂ()w-‘dsd-'m ..... H,0. s a8al . casi) 659 -3

Cra 9ol (A et 4y s ML Akl A H Aot S dila. H+w\ 4&\-««41-9 g Oos -4

} il g sty ddla) -
............. SIS Jetint | ) Cijday

ualia Jalaa X o pwally Guililaal) L8 @l g Sl i 3) glusa -6

o Lggal) Al Aaal) i3l pptiteal) pay -7
CAaaal) Aok e 08 ) HY cligh sl Ll OH cligy Ll -8

¢ dasaual) 4 g ) gall Adalaall La ¢ gaold o g B Joliil) Ciual 48, jhy 40U Aslaal) ¢y -1
NO + CIOO —— NO2»r + Cr
a- H,0 + N,O + 2CI0 ——> 2NO, + 2CI' + H,0

.b- 20H + N,O + 2CIO ——> 2NO, + 2CI" + 2H*

c- 3H, O + NO + 2CIO ——> 2NO; + 2CI' + 6H*
d- 40H + N,O + 2C10 ——> 2NOy + 2CI' + 3H,O

¢ dasaal) 4 g gall Adalaall La ¢ gaoldlang B Joliil) Ciual 48y jhy 40l Dslaal) ¢y -2
Br, —— Br + BrOs

a- 40H + 3Br, ——> 5Br + BrOs; + 2H,0
.b- 60H + 3Br, ——> 5Br + BrO; + 3H,O
c- 40H + 3Br, ——> 5Br + BrO; + 4H*
d- 60H + 3B, ——> 5Br

IKE
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¢ dasaual) 43 ) gal) Adalaall La ¢ gaelBlang B Jolill) Chual 48y yhay 40U Aalaall o5 -3
MnOs + 105 ——— NMnO2 + 104
a- 2H,O + 2MnOs + 2103 —> 2MnO, + 3103' + 40H

b- H,O + MnO, + 103' _— MnO, + 3103 + 20H
c- H,O + 2MnO4 + 2103_ —> 2MnO, + 3103_ + 2H"

.d- H,O + 2MnOs + 3IO3 — 2MnO, + 3103 + 20H"

Jigead) B alail) gl QLS B aa el | dadal) L8
12 Lee ) sl 130a 0 Auilias 5 5o 23R Caay 1 JSal + Gl i 196
J) ead) ¢§J plail) mil Ul A aa el dadal) ?EJ
13 Jallae ¢ LYY ciialall 5 il oo S e VI Aglalal) of A gdl) Alal) U oS sany | 2 JSED + Sl (a 197
ol 133 Jo il gy il ¢ Lgia IS 50 1 50uat ) il 5 yiSIY)
Dl oladl il 5 iSIY) (385

Bl 8 ¢ Juaga s A g gAY G ¢ (AL J) A Bans] Jo il cdlelital) Juag i 13) -1

5)‘); * & g

EESTUSPRL R Al S ddlk ¥
: M\ﬁ&gl\gﬁ?\djﬁ&ﬁw\dﬁ&m’_z

BEYECS N cUadly) 3 ja *

Osisoll 48 a* O ASIYIAS o
e g3 Ao JAY) DY) e Adaid) U ¢ At edl A B Giaay 3

O A ¥ ol *

Osis ol 48 ¥ O Y AS ¥

¢ Lalal) 3 hill) (ailad e gudd i laa gl = 4
@ﬂ\&@dﬁ&ﬁﬁy\))ﬂ@*ﬁ*
| Aal (b g ST )5 e g |
LA da G S ) s e Ladlas *
AV hal) Jeldll il gl 5 il Jelall 318 il ,d o LAY aia *
¢ dalal) 5 haill) Ciillh g (e 2o Y AN e 6] =5
Jstaall (8 il g1 AS jay #land) * Oadaill e cilin il pead aie *
QAN b S dolail) Bads ¢ [ Jgladl il g IV AS pn B s k|

sleall éh.u
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oLsal ) EAY) g sansy)
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2022 - 3 Glaielg

concerning electrochemistry?

O The study of the redox process

O

energy and vice versa

biological functioning

Which of the following statements is not true

Chemical energy is converted to electrical

Useful in industry and critically important for

Mechanical energy is converted to electrical

$LasSlly bty Lo Aasaua 8 20 i ) i
4y el

JIFAY) g BausY) clilas (i

oaSall g Al 148 ) Aibasl) 48Ul Jy gaty il

Aulal) il gl 3 dagag doliall B i

a9 il gS ) Al A8 Jy gasy i
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In the figure below, what do the two half-cells need so that

you can convert chemical energy into electrical energy?

— N
O - olsw cadad
Zinc strip Copper strip
\
\ ’ .
LMzt |
LI
\ <« /)

G aa A il 4aling (31 Lo coliaf (S8 3

02l Al ) dtlonsl BB Jugas

sl Jal o Gl g SV Jad dpale il LA

QU,)}S}Y‘ M )\«.A

Ly Ji) e gl Aale syl i =C

gl i jlae el b oulas Gl dala sl =D

AL ,eSh Sliadd) Jumy

£ 2022 — 2 -¢laial 10

el el (gf cslial UK 8 Gaimgal) 2ol 242 3

Khabid Esmaiel

e ol o 3bye<l) Aalall axins A
Shasaia
Sl i) o Lmgall Gpreajlal) iy S)m -B ;- i
Caladl
Oma)s ol fgated, el ol gl
) Zn [ ka Cu
oladll Zga ) Youmy Realdl) plll yo iy i<yl as -C
ZIIS(),;/ CuSOy
o Al o) e iy YT JEY ek ) e D
ladll -4l
slel) astlu
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In the voltaic cell shown below, where are the ions Sl o) & e ol calinl Ao gal) A odl) 4040 3
move from one side to another? T A A dga s
Qelas Al
Copper wire
Aualal) 3 k)
Oma s ki £ sfjt baridge 53.& akad
Zinc strip § o » | Silver strip
Lo | il
\ cl
¥ A
O Through the copper wire oaladll el JMa
O Through the silver strip Aadl) kb NA
O Through the zinc strip Crmea LAY Glad JNMA
(O Through the salt bridge Agaladl 5 hidl JMA

12024 — 20 - adiia 12 oladal 12

Regarding the cell in the figure below. Which of

The following is incorrect?

2ol UK 3 da gl AT 3l Lak

[«-m;la-s salt bridge

~

A salt bridge allows ions to pass from one side

9 -
2) o i
dadl et Jgae O Al S Jgla N
Copper sulfate Zinc sulfate
solution \ solution /

Al G dgs 0o Clig) Hsrm daldl hill maws - A

to another
Electrons flow through the wire from the oxidation st 52u8Y) Jelin (e Glldl je clig SN Jin - B
half-reaction to the reduction half-reaction ~;"“=”-“ Jav) dels )
This cell converts electrical energy to chemical AdlaS Al Y] 3005e<) A8l 30l 3 Jea3 - C
energy
A spontaneous redox reaction takes place Al Jipals sl clblee Gas = D
slel) astlu
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b i Uaay o S ol cplaiaall cplelall Jelal) Calboail cialas (52

Jigad) o8, o) i ESl) 3 el | Asdeall 3,
14 25 5 2 S0 die Gaad Al J)FAY) Jeld Cuai s 3auSY) Jelii Caual Aalee ) Q) 198
Lo 4 8 41
g 23 RETPE QUSl) b aa el | Aadaal) o3
15 I E © bl g e ipaaf Uisa ¢) SHE (s oobl (o 5 p2ed) el oy | 5 JSl QS 199
b die Viaay o oSy ol calaiaddl cpleill Jelal) Caloadl e alaa (520 s
5l 28, el i Bl 3 g | Akl o,
16 VE © (5 ol o3¢ dadi d2aal Gisa ) SHE (5 (bl G s el el Camy | Jsandl + U (i 200
b die Vs o (e ol cplaiaddl cpleaill Jelal) Cilbaail <Y alas (524 s 1
JIgead) a8 paladl) il ity 8 el dadal) Al
VE © 5 ool onea A Lanl e ¢) SHE (05 0ol Cim s el b Gy |16 ISl 4+ il i 201

22022 — 3 Jladial -1

In the figure shown below, what is the value of
reduction potential E° of this electrode
at a pressure of 1 atm and the temperature at 25 °C?

E° JIRAY) a4 Ik La colidl i gall Joi) 3
£25°C 30 4a )39 1 atm biua cad il 13g]

Salt bridge

3 dacal)

B \

O 0.500 V
o 1.500 V 1 M acid solution
Jaloe
1m o
@) 0.000 V i T
H3 bubbles
H2 olelad i ]
e 1.000 V /

Platinum ka3
electrode -5

H,(g)
(at 1 atm)

»

=M call C iz aloms Lo ¥ 5 g ¢ 2022-24 Oladal ; 2 J) g
R Cpavg gl ety Bl Lad maaia S e
eslal JS...:-.I.i ‘-r’ :...aﬂ‘l
a3, aza)) \ Hi(g) et Juash Al Aaladll LA asea B 135S 55 A
»
poanm o 0.000V ,__é‘_glu-u_.' akadll 138 Jhmal 2= _R
Jslma >
\J.A.-b\ 1 -3 111
Hz lelay §
/ lesh Jamh 0 Ayl LOAD poan 3 135 030
walad
o
35S Lexie 0.000V (gslees bl 138 JI5d) 3¢a T
Caad Cpmg gl e maans 1 M imealdl Jelas 385
25°C o 338 s)lall Aas &8s 1 atm laas ‘
el Al) asild

Khalid Esmaiel




3ci glaia¥) J8a s daal e 2024 -35i - shas — alo12
: 2023 — 2 gladal : 3 J)igw

Regarding the standard hydrogen electrode in the figure bl Il & bl g ugl) Gl gla L
below. Which of the following is correct? rma b L
; !:'a:bcidg: l Hy(g)
\ (at 1 atm)
.. j CUlCUZ+ akad s dag e :\JI:AK djsé -A
¢ 1
J .
. 1Ma_c|d -"
s X} .| § 0.000 V (gsbws g yugh bl (E%) ot Ja¥) 240 =B
lelad s Fe
H2 :;w“71§
Sis
—lad  Platinum Wy
e electrode <
Zn | Zn* ;_u‘:\it.n dluag die 1.}3.:1 JsS &C
Cu +2¢" = Cu E/(V) =+ 0.3419
p il JRAl duiliass g <) ARG (3 Lad praa b Les gl -4
s G soded) o 2SN 5 ulaill ga a5V
T ) + - . . T
St 2H +2e0 —s H, A O g el (alad vie Jelal)
—tal
ool

Hy/H' //Cu™ /Cu s Hdal e s

Cu —s Cu +2e s oolaill i e Jelal) *

}
4

1M H*

: Oall JRally a5 S Al (3laty Lad (el b Laa ol -5

O souell sa 2SN 5 Gaa LAY 58 2 g ¥

2H 426 —>H, s o souel) b v Jelidl *

+ 2+ .
HoJH /20 /20 s R0 55

2+ -
Zn —> Zn +2e s Oma Al il aie Jelal) *
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18 LlaasS 5 5l AAN g bl gadl luad LA Caliail 4l 3 seall Calagy | +1dGe + Qi) (i | & 203, 202
4-1 cligls 204
21 J) o
What is the Cell potential (E ") for the byl Jeliil (E ‘) 4l gill adall bl agali e
spontaneous redox reaction that occurs S 5 o graasinall G anay gl SN ) sl

between magnesium and nickel?

Half-Reaction E°(V) (sieaill Joladl E%(V)
Fe’* +3e™ > Fe - 0.037 Fe®* +3e~ - Fe -0.037
Mn?* +2e” - Mn -1.185 Mn?* + 2e~ - Mn -1.185
E = .
+ 19 e cell cathode anode

A. 1._.._ V A. ' 1.222 V E?e” = .0.037 - {'1.185) = +1.148V
B. -1.222V B. -1222V
C.+1.148V C.+1.148V
D. -1.148V D. -1.148V

: ﬁ@\dﬁ&ﬁt@iﬁ&i&\@ﬂ\w\%h 2
Sni) + Cu?*faq —> Sn**ag + Cug
s Al Al J) AN 3 gea Laddiiesa

i o ) +0.48V -2
Sn**+2¢ —> Sn -0.1375 +0.20V -b
Cu?t + 2¢e —> Cu +0.3419 -0.84V _¢

ESy = Ecathose - £0, 048V  -d
EQ  =+0.3419 - (-0.1375) = +0.48V

: Al / AP+ // Hg* | Hg** 1w s A 4l pdl) AA)) sga e -3
¢ A0 Al ) A 4 sg Lahioes

259V -a
Al Jo i) E°(V) +
APt +3e —> Al -1.662 200V -b
Hg™+2e  —> He™ +0.920 0742V -c
E:::" = Egathode - gr?ode +0.742V -d
EC , = +0.920 - (-1.662) = +2.59V
sleall éh.u
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s oA AS) Jeldn Lgleldn ) 46 gdl) Al ya L -4
Sng) + Cu**ag ———> Sn**ag + Cug)
¢ Al A8l 1 5AY) 3 gga Laddiiiee

048V -
il Jelddl) E°(V) M a
Sn** + 2¢ —> Sn -0.1375 +0.20V -b
Cu** +2e —> Cu +0.3419 048V -C
E° = Eomthod'e - F9 -048V -d

cell anode

EC i =+0.3419 - (-0.1375) = +0.48V

2 2022-2-0 gadal ; 5 Jligm

caalodll Al Ldeadll LAY Al ddaall S edlels S

EO%"B=E'?‘ -E?"": Co?t+2e"=Co ,E’(V)=--0.28 agj
E%u= +1.18 - (-0.28) ot bl
= +146V Pt2+ 42~ = Pt . E°(V)-+1.18 248
3581 2810 (E%) 3 ya Jeld gy
Anode cathode Electrochemical Cell Potential ( £7) | Reaction Type
3k
A Pt Co +0.9V il
Spontaneous
ki
B Co Pt +1.46 V il
Spontaneous
c Pt Co - 09V P
Nonspontaneous
D Co Pt - 1.46V s
Nonspontaneous

Khabid Esmaiel

: 2022 — 3di laidl -6

What is the cell potential (E’cei) for the SausY Jo Uil (I con) Al ol AL o) 24 La
spontaneous redox reaction that occurs between fauaill g o puasiiall G Ciday ) AWK J) 38V
magnesium and silver?
gheaill Jolall E°(V)
Half-Reaction
Mgt +2e” — Mg -2372 | a4
Agt +e” > Ag +0.7996 |.4iS
o) +3.172V
o) " E?-'-b = E-?ﬂ-‘ 2 Egﬂf
0-7'Y E7x=+0.7996 - (-2.372)
o) +2971V S
o) +1573V ,
— )
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What is the Cell potential (E ") for the B! Jeliil (E °up) 4l gill Adall bl aeall e
spontaneous redox reaction that occurs Sl 5 gresiall (a3l S ) 3R
between magnesium and nickel?
Half-Reaction E°(V) sieatl Joladl E°(V)
Fe’* +3e™ - Fe -0.037 Fe3* +3e™ > Fe -0.037 |agis
Mn?* +2e” - Mn -1.185 M2t + 2e- - Mn 1.185 | 24
A +1222V A +122V
O -
B. -1.222V B, <122V ;. s
Elix=-0.037 - (-1.185)
C.+1.148V -
C.+1.148V v 1148V
D. -1.148V D. -1.148V

(AL Jo U ¢ 1 o ga AR g )

: 2024 — 2 — pdiia] 2 Glalal -8

The following reduction half-reaclions
represent the half-cells of a voltaic cell.

Which data in the lable below is correct?

LAleal) Al aaanl LMAT A0N Apiadll JIEAY) cileln S

Cdasas olidl Jaaall 43 Sllll e .,5"

g = Eg‘:u - E?J-l Half-Reaction i3 Je\d
Eoz_,h- = +1.18 | - (-0.037) Fe’* + 3e~ == Fe -0037 | 3¢l
f i | o
= +1.217V PIZ* 4 2e e Pt | 4qg | 3G
Jelal stk LN Sae Ll el Jelall LIS EVEN
Sponlaneily of the reaction Cell notation The overall cell reaction The cell voltage (£ °)
e Fe| Fe™|| PE|P1 2Fe + 3PP —s 2Fe™ + 3P1 +1.217 V A
sponlancous
nonspontaneous it e | Pl | Peell Fe** | Fe 3Pt #2Fe” —» 3PP+ 2Fe -1.217 B
o Pt | P || Fel Fe* 2Fo™ + 3P — s 2F0+ 3P +1.143 V c
sponlaneous
e Fe| Fe*|| Pt"|P1 2Fo + 3P —= 2Fe™+ 3PE -1.143 V D
nonsponlaneous
slel) astlu
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19 A 8 Gy ) J) s Y1528 ) Je il ALlSD) 4ile Sl Albba) 5 A0 e 5 iy | 10 + Sl o | &203, 202
4-1 il 204

(-) s

o:-‘aJl—”\‘ A ' /k
I

Copper wire

Zpat .‘3“‘\,..,‘
Salt bridge X

M;h—iu’ T ) dad Lkt

Zinc strip \

o K+ Silver strip

\ k¥, o

Gl ¢

Khalid Esmaiel

¢ Jalhall JSlly dauda gal) 40 64 A8 o i La -1
Zn/Zn**//Cu*/Cu . A
Cu/Cu*//Zn**/Zn . B
Zn**/Zn//Cu/Cu** . C
Cu/Zn**//Cu**/Zn . D

¢ Jilial) JSAlL dauin gal) 4 gll) A Sae i la -2
Zn**/Zn//Cu**/Cu . A
Ag/Agt//Zn**/Zn . B
Zn**/Zn//Ag/Agt . C
Zn/Zn>AgAg . D

¢ Jalial) JSAll dauin gal) Al gi) AR Saa i La -3
H,/H*//Cu**/Cu . A
Cu/Cu**// H'/H, . B

Cu?*/Cu//H*/H, . C
H*/Hy// Cu**/Cu . D

¢ Jlal) JLAN Ao gal) Al gll) AIAY) e i La -4
Hy/H*//Zn**/Zn . A
Zn/Zn**// H/H, . B
Zn**/Zn//H*/H, . C
H*/Ho// Zn**/Zn . D

sleal) éh.u
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Which of the reactions presented in the table
below is non-spontaneous under the standard
conditions?

Reaction E°(V)
2Fe™ + 3Mn — 3Mn**+ 2Fe | +1.148
I+ Fe — 2I' + Fe** +0.983

Zn +Cu” 5 Zn” +Cu | +1.104
Zn +Ca"” = Zn* +Ca -2.106

2Fe¥* + 3Mn — 3Mn**+ 2Fe
I+ Fe — 21 + Fe*

Zn +Cu** - Zn* + Cu
Zn +Ca* - Zn* +Ca

EORPE

I ) eé) aladl) il sty gé el dadall ng
20 Sl e ol S Jelds & gany 5uill Al J) 3R 3 s adiiy 1 + QLS i 204,205
+9-5 Clipks
Jibusall Ja doa) i)
: 1 J)gm

H Al e g8 ol Jgaall 8 AL cOe i e i

Pl g Jall Y
geull E°(Y)
2Fe* + 3Mn — 3Mn+2Fe | +1.148
I+ Fe — 2T + Fe!* +0.983

Zn +Cu®” - Zn* +Cu +1.104

Zn +Ca¥ = Zn" +Ca -2.106

2Fe¥ + 3Mn — 3Mn**+ 2Fe
I+ Fe — 2I- + Felt

Zn +Cu** - Zn* + Cu
Zn +Cal* - Zn* +Ca

SR

¢ Apuldl) Cagplal 3B B LAl e ANl cdle W) e i -2

Je il E°(V)
X+YH —> X*+Y -0.037 A
R+Y* —> R™+Y -1.018 B
A+B* ——> A +B +2.01 C
C+Dt* ——> C*+D -1,220 D
Ceee6ee C@\Jéﬁéﬂgwgﬁ@\wuy
sleal) asiiug




